1549m Z = 62 N =92 adopted linkl ENSDF link

Based on ENSDF from Oct 2022, and mass evaluation from 2020

BE = 1266.933 ( 0.001) MeV

Energy T J+ J- J-other T1/2
154SM 1 | 0.000 o+ | | 1 STABLE
154SM 2 | 0.082 2+ | I 2 3.02NS 4
154SM 3 | 0.267 4+ | | 3 172 PS 4
154SM 4 | 0.544 6+ | | 4 22.7PS 6
154SM 5 | 0.903 8+ | I 5 5.9 PS 3
154SM 6 | | 0.921 1- | 6 21 FS 1
154SM 7 | | 1.012 3- | 7 23 FS 3
154SM 8 | 1.099 o+ | | 8 0.90 PS 21
154SM 9 | 1.178 2+ | | 9 2.4 PS GT
154SM 10 | | 1.181 5- | 10
S-alpha= 1.200 ( 0.002) ————————m—— o
154SM 11 | 1.202 0+ | | 11
154SM 12 | 1.286 2+ | | 12
154SM 13 | 1.333 10+ | | 13 2.45 PS 12
154SM 14 | 1.338 4+ | | 14
154SM 15 | | 1.431 7- | 15
154SM 16 | 1.440 2+ | | 16 0.42 PS 3
1548M 17 | | | 1.472 (4+) 17
154SM 18 | | | 1.475 (6+) 18
154SM 19 | | 1.476 1- | 19
154SM 20 | | 1.515 2- | 20
154SM 21 | 1.539 3+ | | 21
154SM 22 | 1.577 6+ | | 22
154SM 23 | | 1.584 3- | 23
154SM 24 | | | 1.615 24
154SM 25 | | 1.661 4- | 25
154SM 26 | 1.665 4+ | | 26
154SM 27 | | | 1.674 2 27
154SM 28 | 1.707 3+ | | 28
154SM 29 | | | 1.741 (8+) 29
154SM 30 | | | 1.755 30
1548M 31 | | | 1.756 1-,2,3- 31
1548M 32 | | 1.760 9- | 32
154SM 33 | | | 1.764 33
154SM 34 | | 1.774 5- | 34
154SM 35 | 1.805 5+ | | 35
154SM 36 | | | 1.815 2+,3 36
154SM 37 | | | 1.818 4+,5,6+ 37


http://www.nndc.bnl.gov/ensdf/getadopted.jsp?nuc=154Sm
https://www.nndc.bnl.gov/ensdf/
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